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UHSUHVHQWDWLYHV� IURP� WKH� ���
$PHULFDQ� FRORQLHV� DWWHQGLQJ� WKH�
6HFRQG� &RQWLQHQWDO� &RQJUHVV� LQ�
3KLODGHOSKLD� GHFODUHG� WKHLU�
LQGHSHQGHQFH� IURP� WKH� %ULWLVK�
&URZQ���6R�EHJLQV�WKH�'HFODUDWLRQ�

RI�,QGHSHQGHQFH��³:KHQ�LQ�WKH�FRXUVH�RI�KXPDQ�HYHQWV�� LW�
EHFRPHV�QHFHVVDU\�IRU�RQH�SHRSOH�WR�GLVVROYH� WKH�SROLWLFDO�
EDQGV� ZKLFK� KDYH� FRQQHFWHG� WKHP� ZLWK� DQRWKHU�� DQG� WR�
DVVXPH� DPRQJ� WKH� SRZHUV� RI� WKH� HDUWK�� WKH� VHSDUDWH� DQG�
HTXDO�VWDWLRQ�WR�ZKLFK�WKH�/DZV�RI�1DWXUH�DQG�RI�1DWXUH¶V�
*RG� HQWLWOH� WKHP�� D� GHFHQW� UHVSHFW� WR� WKH� RSLQLRQV� RI�
PDQNLQG�UHTXLUHV�WKDW�WKH\�VKRXOG�GHFODUH�WKH�FDXVH�ZKLFK�
LPSHOV�WKHP�WR�WKLV�VHSDUDWLRQ�««:H�KROG�WKHVH�WUXWKV�WR�
EH�VHOI-HYLGHQW��WKDW�DOO�PHQ�DUH�FUHDWHG�HTXDO��WKDW�WKH\�DUH�
HQGRZHG� E\� WKHLU� &UHDWRU� ZLWK� FHUWDLQ� XQDOLHQDEOH� ULJKWV��
WKDW� DPRQJ� WKHVH� DUH� /LIH�� /LEHUW\� DQG� WKH� 3XUVXLW� RI�
+DSSLQHVV�´�� 
���1RW� RQO\� GLG� WKHVH�PHQ� WDNH� D� UDGLFDO� VWHS� LQ� GHFODULQJ�
IUHHGRP� IRU� WKHVH� 8QLWHG� 6WDWHV� RI� $PHULFD�� EXW� WKH�
GRFXPHQW�GHFODULQJ�LQGHSHQGHQFH�ZDV�UDGLFDO�IRU�LWV�GD\�LQ�
SURSRVLQJ�WKDW�DOO�PHQ�DUH�FUHDWHG�HTXDO�DQG�VKDUH�LQ�*RG-
JLYHQ�ULJKWV�� � ,W�ZDV�D�SHUIHFW�GHFODUDWLRQ�IRU�DQ�LPSHUIHFW�
SHRSOH� LQ� DQ� LPSHUIHFW�ZRUOG�� WKDW�ZRXOG� WDNH�JHQHUDWLRQV�
WR�LPSOHPHQW���%XW�LW�ZDV�D�EHJLQQLQJ�LQ�WKH�ULJKW�GLUHFWLRQ���
6LQFH� LWV� IRXQGLQJ�� WKH� SHRSOH� RI�$PHULFD� KDYH� VDFULILFHG�
DQG�GLHG� WR�PDNH� WKLV�GUHDP�RI�IUHHGRP�D�UHDOLW\�� �3HRSOH�
KDYH�VDFULILFHG�DQG�GLHG�WR�GHIHQG�LW�DQG�VWUHQJWKHQ�LW���,W¶V�
XQIRUWXQDWH� WKDW� ZH� VHH� WRR� PDQ\� $PHULFDQV� ZLOOLQJ� WR�
VXUUHQGHU� LW� WRGD\�� � $V� VWDWHG� E\� *HRUJH� :DVKLQJWRQ� RQ�
-XQH�����������³%\�IROO\�RU� LPSURSHU�FRQGXFW��SURFHHGLQJ�
IURP� D� YDULHW\� RI� FDXVHV�� ZH� PD\� QRZ� DQG� WKHQ� JHW�
EHZLOGHUHG�� � %XW� ,� KRSH� DQG� WUXVW� WKDW� WKHUH� LV� VHQVH� DQG�
YLUWXH�HQRXJK�OHIW�WR�UHFRYHU�WKH�ULJKW�SDWK�EHIRUH�ZH�VKDOO�
EH�HQWLUHO\�ORVW�´ 
 

%(67�:,6+(6��)5��%2ä1$5���$IWHU�IDLWKIXOO\�VHUYLQJ�
WKH� SHRSOH� RI� 6W�� 9LWXV� 3DULVK� DV� $VVRFLDWH� 3DVWRU� IRU� ��
\HDUV� DQG� WKHQ� DV� 3DVWRU� IRU� ��� \HDUV�� )U�� -RVHSK� %RåQDU�
EHJLQV� D�ZHOO-GHVHUYHG� UHWLUHPHQW� IURP� KLV� DGPLQLVWUDWLYH�
GXWLHV�DV�SDVWRU���+H�PD\�KDYH�KDQGHG�RYHU�WKH�KHOP�WR�QHZ�
SDVWRU�)U��-RK�5HWDU��EXW�KH�KDVQ¶W�JLYHQ�XS� WKH�VKLS�� �+H�
ZLOO� FRQWLQXH� VKDULQJ�KLV�SULHVWO\�PLQLVWU\� DV�KH� LV� DEOH� WR�
GR���,�ZDV�EOHVVHG�WR�KDYH�VHUYHG�DV�D�QHZO\�RUGDLQHG�SULHVW�
XQGHU�KLV�NLQG��FDSDEOH��DQG�ZLVH�OHDGHUVKLS�IRU���\HDUV�DW�
6W��9LWXV���0D\�*RG�EOHVV�KLP�ZLWK�FRQWLQXHG�JRRG�KHDOWK��
FRQWHQWPHQW��DQG�PXFK�VDWLVIDFWLRQ�IRU�D�MRE�ZHOO�GRQH�DV�D�
JRRG�DQG�FDULQJ�VKHSKHUG��� 
 

�*22'�1(:6���:H¶UH�KDSS\�WR�VKDUH�ZLWK�\RX�WKH�JRRG�
QHZV�WKDW�)U��%LOO�-HUVH�LV�EDFN�KRPH���$IWHU�VXUJHU\�DQG�D�
YHU\�ORQJ�UHFRYHU\��)U��%LOO�UHWXUQHG�WR�6W��-HURPH�3DULVK�D�
IHZ�ZHHNV�DJR���&RQWLQXH�WR�NHHS�KLP�LQ�\RXU�SUD\HUV�DV�KH�
VORZO\�UHJDLQV�KLV�VWUHQJWK� 

/DVW�6XQGD\¶V�2IIHULQJ��������� 
3HWHU¶V�3HQFH�������� 
&KXUFK�1HHGV������LQ�PHPRU\�RI�PRWKHU�0ROOLH�-XUHFLF¶V�
ELUWKGD\� �-XO\� �VW�� IURP� GDXJKWHU� $QQD�0DULD�0R]]LFDWR��
������� IURP� -DFN� $YFLQ�� ����� LQ� WKDQNVJLYLQJ� IRU� ��WK�
ZHGGLQJ� DQQLYHUVDU\� RI� 'RPLQLN� 	� &DURO� *RUVKH� IURP�
+HOHQD� *RUVKH�� ���� LQ� WKDQNVJLYLQJ� IURP� 0DWW� 	� 0DU\�
$QQ� +R]MDQ�� ����� LQ� PHPRU\� RI� SDUHQWV� $QGUHZ� 	�
-RVHSKLQH�)DMGLJD��VLVWHU�/LOOLDQ�*RU\DQFH�DQG�1LFN�6RYLFK�
IURP� -RVHSKLQH� 6RYLFK�� ���� LQ� PHPRU\� RI� 3HWHU� $��
+DXSWPDQ� IURP� -DQ�	�9LGD�7KRUNHOVRQ�� ����� IURP�0�0�
/RX�3UHEHYVHN� 
 

<RXU�JHQHURVLW\�WR�WKH�SDULVK�LV�DSSUHFLDWHG� 
 
67�� 0$5<� 6800(5� 5$))/(� 7,&.(76� PD\� EH�
SLFNHG�XS� WKLV�ZHHNHQG�DIWHU�0DVV� LQ� WKH� HQWUDQFHZD\�E\�
WKH� SULHVW¶V� VDFULVW\�� �:H� DVN� WKDW� DOO� RI� RXU� SDULVKLRQHUV�
HLWKHU�EX\�RU�VHOO�DOO�WKH�WLFNHWV�������IRU�WKH�VXFFHVV�RI�WKH�
UDIIOH���2XU�SLFQLF�ZLOO�EH�6XQGD\��$XJXVW���WK��RXU�SDULVK¶V�
SDWURQDO� IHDVW� GD\�� DW� 6ORYHQVND� 3ULVWDYD�� � 0DUN� \RXU�
FDOHQGDUV� DQG� LQYLWH� \RXU� H[WHQGHG� IDPLO\� DQG� IULHQGV� IRU�
RQH�RI�WKH�ELJJHVW�DQQXDO�SLFQLFV�DW�3ULVWDYD�� 
 
6/29(1,$1� 0,66,21� $,'� 62&,(7<� �0=$��
$118$/� %(1(),7� 3,&1,&� ZLOO� EH� RQ� 6XQGD\�� -XO\�
��WK�DW�6ORYHQVND�3ULVWDYD������%UDQGW�5G��LQ�+DUSHUVILHOG���
7KH� GD\�ZLOO� EHJLQ�ZLWK�0DVV� DW� ������ S�P�� IROORZHG� E\�
GLQQHU�SUHSDUHG�E\�-RH�7DYFDU�� �&RVW�RI� WKH�GLQQHU� LV�����
IRU� DGXOWV� DQG� ��� IRU� FKLOGUHQ�� � $GYDQFHG� WLFNHW�
UHVHUYDWLRQV�PD\�EH�SODFHG�E\�FDOOLQJ�7RQ\�/DYULVKD�DW����
-���-�����25� HPDLO� DW� PHWL#DLP�FRP�� � 7LFNHWV� DUH� DOVR�
DYDLODEOH�DW�WKH�UHFWRU\�RIILFH���0XVLF�E\�ERWK�$OSLQH�6H[WHW�
DQG� 9HVHOL� *RGFL�� � 7KHUH� ZLOO� DOVR� EH� D� %DNH� 6DOH� DQG�
KDPEXUJHUV�DQG�RWKHU�IRRG�ODWHU�LQ�WKH�GD\���7KH�SRRO�ZLOO�
DOVR� EH� RSHQ� �IRU� D� QRPLQDO� IHH��� � 7KLV� LV� D� .6.-� /LIH�
0DWFKLQJ�)XQG�(YHQW�ZLWK�6W��-RVHSK�/RGJH������� �&RPH�
DQG� VXSSRUW� 0=$� LQ� LWV� ZRUN� RI� KHOSLQJ� RXU� 6ORYHQLDQ�
PLVVLRQDULHV�ZKR�ZRUN�LQ����FRXQWULHV�ZRUOGZLGH� 
 
67�� 9,786� 6800(5� 3,&1,&�� &(/(%5$7,1*� ����
<($56� 2)� )$,7+�� )$0,/<� 	� )5,(1'6+,3�� �2XU�
VLVWHU�6ORYHQLDQ�SDULVK¶V�EHQHILW�SLFQLF�ZLOO�EH�RQ�6XQGD\��
-XO\���WK�DW�6ORYHQVND�3ULVWDYD�IURP����1RRQ�WR������S�P���
0DVV� ZLOO� EH� FHOHEUDWHG� E\� WKH� QHZ� 6W�� 9LWXV� SDVWRU� )U��
-RKQ�5HWDU� DQG� FRQFHOHEUDWHG� E\� )U�� -RVHSK�%RåQDU� DW� ���
1RRQ���3RUN�6FKQLW]HO�GLQQHUV�SUHSDUHG�E\�-RH�7DYFDU�ZLOO�
EH� VHUYHG� IURP� ����� WR� ����� S�P�� � 'RQDWLRQ� LV� ���� IRU�
DGXOWV� DQG� ���� IRU� FKLOGUHQ�� � 'LQQHU� UHVHUYDWLRQV� DUH�
QHFHVVDU\�DQG�PD\�EH�SODFH�E\�FDOOLQJ�6W��9LWXV�UHFWRU\�DW�
���-���-������ � ýHYDSþLþL� DQG� RWKHU� SLFQLF� IRRGV� ZLOO� EH�
DYDLODEOH�DIWHU������S�P���(QWHUWDLQPHQW�ZLOO�EH�SURYLGHG�E\�
WKH� &OHYHODQG�7236� 6ZLQJ�%DQG� IURP� ����� WR� ����� S�P���
7KHUH� ZLOO� DOVR� EH� D� %DNH� 6DOH�� IHDWXULQJ� NURIH�� � 0DLQ�
5DIIOH� GUDZLQJ�ZLOO� EH� DW� ����� S�P�� � $OO� RI� RXU� 6W��0DU\�
SDULVKLRQHUV�DUH�YHU\�ZHOFRPH�WR�DWWHQG� 
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3OHDVH�3UD\�IRU�2XU�6LFN��%UDQNR�3LVRUQ��7RP�0F1XOW\���
%UHQGD� 3UHEHYVHN�� 0ODGHQ� 	� 'XãDQND� /HQJHO�� 9HURQLND�
8GRYLþ��$QQ�0DULH�9HQH 
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6XQGD\ �����D�P� 0DU\�/RXLVH�'DOH\�7RQ\�2JULQF 
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0,6,-216.$� =1$0.$56.$� $.&,-$� �0=$�� ,0$�
3,.1,.�Y�QHGHOMR�����MXOLMD�QD�6ORYHQVNL�3ULVWDYL���=DþHWHN�ER�]�
PDãR� RE� ������ SRSROGDQ�� VOHGL� NRVLOR�� NL� JD� ER� SULSUDYLO� -RH�
7DYþDU�� � &HQD� ]D� NRVLOR� MH� ���� ]D� RGUDVOH� LQ� ��� ]D� RWURNH���
9VWRSQLFH� ]D� NRVLOR� ODKNR� QDURþLWH� Y� QDSUHM� þH� NOLþHWH� 7RQHWD�
/DYULVKD�QD����-���-�����DOL�HPDLO�QD�PHWL#DLP�FRP��ODKNR�MLK�
GRELWH� WXGL� Y� åXSQLMVNHP�XUDGX�� �=D� ]DEDYR� LQ�SOHV� ERVWD� LJUDOD�
$OSVNL� 6HNVWHW� LQ� 9HVHOL� *RGFL�� � ,PHOL� ERGR� SURGDMR� SHFLYD� WHU�
KDPEXUJHUMH� LQ� GUXJR� KUDQR� SR]QHMH� SRSROGDQ�� � %D]HQ� ER� WXGL�
RGSUW� �]D� QRPLQDOQR� FHQR��� � 7R� MH� .6.-� /LIH� 0DWFKLQJ� )XQG�
(YHQW� ]� GUXãWYRP�6Y�� -RåHID� ������ � 3ULGLWH� LQ� SRGSULWH�0=$� Y�
QMLKRYHP� GHOX� Y� SRPRþ� QDãLP� 6ORYHQVNLP� PLVLMRQDUMHP�� NL�
R]QDQMDMR�(YDQJHOLM�Y����GUåDYDK�SR�VYHWX� 
3,.1,.� 69�� 9,'$�� 35$=129$1-(� ���� /(7� 9(5(��
'58ä,1(� ,1� 35,-$7(/-679$�� � 1DãH� VHVWUH� 6ORYHQVNH�
åXSQLMH� SLNQLN� ER� Y� QHGHOMR� ���� MXOLMD� QD� 6ORYHQVNL� 3ULVWDYL� RG�
������ RSROGDQ� GR� ����� ]YHþHU�� �0DãR� ER� LPHO� QRYL� åXSQLN� VY��
9LGD�J��-DQH]�5HWDU�RE�������RSROGDQ�V�VRPDãHYDQMHP�J��-RåHWD�
%RåQDU���.RVLOR�]�GXQMDVNLPL�]UH]NL�ER�SULSUDYLO�-RH�7DYþDU�LQ�ER�
VHUYLUDQR�RG������GR������SRSROGDQ���'DU�MH�����]D�RGUDVOH�LQ�����
]D� RWURNH�� � 5H]HUYDFLMH� ]D� NRVLOR� VR� SRWUHEQH�� ]DWR� NOLþLWH�
åXSQLãþH�6Y��9LGD�QD����-���-�������ýHYDSþLþL�LQ�GUXJD�SLNQLãND�
KUDQD� ER� QDYROMR� SR� ����� XUL�� � =D� ]DEDYR� ER� SUHVNUEHO� 7236�
6ZLQJ� %DQG� RG� ����� GR� ����� SRSROGDQ�� � ,PHOL� ERGR� SURGDMR�
SHFLYD� LQ� WXGL�NURIH�� �äUHEDQMH�JODYQHJD�GRELWND�ER�RE������XUL���
9VL�åXSOMDQL�0DULMH�9QHERY]HWH�VR�OHSR�YDEOMHQL� 

 

'$1(6�-(�����1$9$'1$�1('(/-$ 
� 
9(6(/,�52-671,�'$1��$0(5,.$�����MXOLMD�������VR�
VH� SUHGVWDYQLNL� ��� DPHULãNLK� NRORQLM� XGHOHåLOL� GUXJL�
NRQWLQHQWDOHQ� .RQJUHV� Y� )LODGHOILML� LQ� UD]JODVLOL� QMLKRYR�
QHRGYLVQRVW�RG�%ULWDQVNH�.URQH���7DNR�VH�]DþQH�GHNODUDFLMD�
QHRGYLVQRVWL�� � ³.R� VH� PHG� þORYHãNLPL� GRJRGNL� ]JRGL� GD�
PRUD� HQR� OMXGVWYR� UD]SXVWLWL� SROLWLþQH� YH]L�� NL� VR� MLK�
SRYH]DOL�]�GUXJLPL��LQ�GRSXVWLWL�PHG�PRþPL�]HPOMH�SUHY]HWL�
ORþHQR� LQ� HQDNRYUHGQR� SRVWDMR�� QD� NDWHUR� VH� QDQDãDMR�
=DNRQL� 1DUDYH� LQ� %RJ�1DUDYH� MLP� GDMH� SUDYLFR�� GRVWRMQR�
VSRãWRYDQMH�PQHQM� þORYHVWYD� ]DKWHYD�� GD� UD]JODVLMR� Y]URN��
NL� MLK� SULPRUD� N� WHM� ORþLWYL«��6PDWUDPR� GD� VR� WH� UHVQLFH�
VDPRXPHYQH�� GD� VR� YVL� OMXGMH� HQDNL�� GD� VR� REGDUMHQL� RG�
QMLKRYHJD�6WYDUQLND�]�QHNDWHULPL�QHRGWXMOMLYLPL�SUDYLFDPL��
PHG�NDWHULPL�VR�åLYOMHQMH��VYRERGD�LQ�LVNDQMH�VUHþH�´ 
���1H� VDPR� GD� VR� WL� PRåMH� UDGLNDOQR� VWRSLOL� N� UD]JODVLWYL�
VYRERGH�]D�WH�=GUXåHQH�'UåDYH�$PHULNH��DPSDN�MH�ELO�WXGL��
GRNXPHQW�� NL� MH� UD]JODVLO� QHRGYLVQRVW�� ]D� VYRM� þDV��
UDGLNDOHQ��NR�MH�SUHGODJDO��GD�VR�YVL�OMXGMH�XVWYDUMHQL�HQDNR�
LQ� VL�ERGR�GHOLOL�Y�ERåMLK�GDQLK�SUDYLFDK�� �%LOD� MH�SRSROQD�
GHNODUDFLMD� ]D� QHSRSROQH� OMXGL� Y� QHSRSROQHP� VYHWX�� NL� ER�
Y]HOR� JHQHUDFLMH� GD� L]SRSROQLMR�� � 7RGD� ELO� MH� ]DþHWHN� Y�
SUDYR�VPHU���2G�]DþHWND�XVWDQRYLWYH�VR�$PHULþDQL�åUWYRYDOL�
LQ�XPUOL��GD�EL� WH� VDQMH�R� VYRERGL�XUHVQLþLOL�� �/MXGMH�VR�VH�
åUWYRYDOL�LQ�XPUOL�GD�EL�MR�EUDQLOL�LQ�MR�RNUHSLOL���äDORVWQR�MH��
GD�VHGDM�YLGLPR�SUHYHþ�$PHULþDQRY��NL�MR�åHOL�SURGDWL���.RW�
MH� *HRUJH� :DVKLQJWRQ� L]MDYLO� ���� MXQLMD� ������ ³=DUDGL�
QHXPQRVWL�DOL�QHSULPHUQHJD�UDYQDQMD��NL�L]KDMD�L]�UD]OLþQLK�
Y]URNRY��VH�REþDVQR�]PHGHPR���7RGD�XSDP�LQ�]DXSDP��GD�
MH�RVWDOR�GRYROM�REþXWND�]D�YUOLQR��GD�VL�ODKNR�RSRPRUHPR�
SR�SUDYL�SRWL��SUHGHQ�ERPR�SRSROQRPD�L]JXEOMHQL�´ 
 

65(ý.(� =$� 32/(71,� 3,.1,.� ODKNR� SREHUHWH� WD�
YLNHQG� SR� PDãL� Y� YHåL� SUL� ]DNULVWLML�� � 3URVLPR� YVH� QDãH�
åXSOMDQH�� GD� VDPL� NXSLMR� DOL� SURGDMR� YVH� VUHþNH� ������ ]D�
XVSHK� VUHþRORYD�� �1Dã� SLNQLN� ER� Y� QHGHOMR� ���� DYJXVWD� QD�
SDWURQVNL� SUD]QLN� QDãH� åXSQLMH� QD� 6ORYHQVNL� 3ULVWDYL���
=DSLãLWH�VL�QD�NROHGDU�LQ�SRYDELWH�YDãR�GUXåLQR�LQ�SULMDWHOMH�
QD�QDMYHþML�SLNQLN�QD�3ULVWDYL��� 
 

96(� 1$-%2/-â(� *�� %2ä1$5�� 3R� ]YHVWHP� VOXåHQMX�
YHUQLNRP�åXSQLMH�6Y��9LGD��NRW� NDSODQ��� OHW� LQ�SRWHP�NRW�
åXSQLN� ��� OHW�� J�� -RåH�%RåQDU� ]DþQH� ]DVOXåHQR� XSRNRMLWHY�
RG�QMHJRYLK�XSUDYQLK�GROåQRVWLK�NRW�åXSQLN���2Q�MH�RGVWRSLO�
NUPLOR� QRYHPX� åXSQLNX� J�� -DQH]X� 5HWDU� DPSDN� RQ� QL�
]DSXVWLO� ODGLMR�� � 2Q� ER� QDGDOMHYDO� VYRMR� GXKRYQR� SRPRþ��
NROLNRU�ER�PRJRþH�VWRULWL���-D]�VHP�ELO�VUHþHQ�GD�VHP�VOXåLO�
NRW� PODGL� NDSODQ� SRG� QMHJRYLP� SULMD]QHP�� VSRVREQHP��
PRGUHP� YRGVWYRP� ]D� �� OHW� SUL� 6Y�� 9LGX�� � 1DM� JD� %RJ�
EODJRVORYL�]�]GUDYMHP��]DGRYROMVWYRP�LQ�]�KYDOHåQRVWMR�]D�
GREUR�NRQþDQR�GHOR�NRW�GREHU�LQ�VNUEHQ�SDVWLU� 
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